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He was ashamed

70, Our Constitution recommends English as misbebaviour
(A) & compulsory subject in education (A) with
(B) a language of admission (B) for
(C) an associate official language ©) of
(D) \yx‘m franca ©) in
71. Hegaveme one-rupee nole. 76. The categorywise action verbs list was
(A) an dcwlopc«l Yy ——
(B) a (A) BS. Bloom
(C) the (B) RCEM gppnhl\‘h
(D) many (C) Robert Mager
(D) Robert Miller
72. Hehasbeenill __~__ Monday last /
(A) to -
: 77. Formative assessment does not help in
(B) smc.:-/ S
ey (A) identifying the learner’ s weaknesses
(D) for in learning.
(B) providing opportunity to the
; learners to improve their work after
73. oy s been § ® ; P
They have been studying "{:‘:ng foadback:
(A) hard all day at home 3 4
(C) enabling teachers to modify
(B) all day hard at home teaching-learning strategies. g
(C) at home hard all day (D) enabling learners to secure good
(D) hard at home all day marks.
78. Conti . ; 3
74. Hemant could not reach the station in ,Onhnu.ous comprehensive evaluation
time owing to emphasises
(A) heavy traffics (A) product evaluation
(B) heavy traffic (B) processAvaluation
(©) lots of traffics (€) term end evaluation
——(D) _much traffics (D) summative
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e carefully and answer the

90) that follow choosing

Read the passay
questions (No. 86 o
the correct alternatives given

yYet another great defect of our civilization
is that it does not know W hat to do with its
knowledgre. Science, as we have seen, has given
us powers fit for G 'ds, vet we use them like

small children

For ~-\.1mp]v, we do not know how to
manage our machines Machines, as | have
already explained, were made to be man's
servants; vet he has grown so dependent on
them that they are in a fair way to become his
masters. Already most men spend most of their
lives looking after and waiting upon machines
And the machines are very stern masters. They
must be fed with coal, and given petrol to drink,
and oil to wash with and must be kept at the
7 right temperature. And if they do not get their
meals when they expect them, they grow sulky
and refuse to work, or burst with rage, and blow
up, and spread ruin and destruction all around

S50 we have to wait upon them very

g ) them
attentively and do all that we can to keep them
in a good temper. Already we find it difficult
either to work or play without the machines,
and a time may come when they will rule us
together, just as we rule the animals.

o does not know what to do
with its knowledge.
(A) Science
(B) Man

(C) Machine
(D) _Our Civilization

87.

SR

hines, according to the writer,
ar become man’s masters

because of his — e

too much dependence on them

The mac
o in a fatr way to

(A)
knowledge with which he manages
machines

faith in the powers of the machines

(8)

©

(D) too little dependence on them

Machines must be given
wash with.

88.

(A) petrol

(B) coal
(C) oil

right temperature

(D) 92

89. According to the writer the machines

must get their meals when they

- them.
(A) demand
(B) expect
(©) want
(D) usually get

90. “Blow up’ in the passage means

(A) to destroy
(B)
(€) to wam

(D) to stop burning

to lose temper
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of the following rational numbers

Py oo 3 . Which
o Pou eod 08600 WG G 8 7 AUGS o B -
lies between :) and z 7
2eie 7 AT |
=t — 3
3 A Z '8 (A)
K 4
A3 Ceun e
3 i == VY AN 15
(B) “: (8) 16
12
12 - e
o e © 17
13
13 >
®) 1 (D) T3
9
94. cOlRe Soa 690 0dUace G9INeR | 94. Inwhich period of cognitive development,
A6 ZRINGRG UIQI QAP 9GO children acquainted with Mathematical
cRIQaIZIG ? conversation ?
(A) QERGINIR® (A) Sensory motor
(B) QIR QIS4 (B) Pre-operation
€) 99 QQIdy (€) Concrete operation
(D) RQaIgs QU (D) Formal operation
B 1 95. 6RITN TITGIRIR FFOIRQ ORGI 79 AGQ | | 95. A rectangular garden is 79 m wide. It
s / <210 SIRVIYER VP 699 A FCAQ X6 costs ¥ 2244 to fence it at T 6 per meter.
A/ 221968 T 2244 @9 24 | 9F9ITR 6989 What is the area of this garden ?
R 6960 7
(A) 8453 m? (A) 8453 m?
(B) 8325 m? (B) 8325 m?
(C). 8532 m? (C) 8532 m?
(D) 8345 m* (D) 8345 m2
@@ Qidy a1d AR / SPACE FOR ROUGH WORK
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INSTOTHECANDIDATES

The admission to the examination is
provisional. In the event of any information
furnished by the candidate found false
incorrect/incomplete detected at any
stage, the candidature shall be rejected

2. Darken the circles in the OMR sheet
completely with Black/Blue ball point pen
only. Partial darkening shall not be

<

3. Darkening two or more circles completely
partially shall not be evaluated

4. Changing the darkened circle in any
manner putting “x mark/using white
fluid / erasing by rubber/blade etc. shall not
be evaluated

5. This question booklet shall not be opened
until instructed. Write your Roll No
correctly in this booklet as well as in the
OMR answer-sheet.

6. The candidate should check the No. of

Printed Pages and Questions along with

their Serial Nos. In case of any discrepancy

found, exchange the defective one and
collect another correct one from the
invigilator within 5 (five) minutes and
thereafter no complaint shall be

evalu

entertained
7. The examination shall be conducted as per
the Odisha Conduct of Examination Act
1988

(Continued)















147. ds1QIR G dga 68g6a 98AI€IAR
" geosal Old 6RRYS! eée'ewmse
Se0uoica 6RE0R TISEIRGI O6Q PRI 7

(A) <R aqiad
(B) ds8a Q0 90184
(C) eae aasd

(D) €66 & g6F
-~

148. F67I8 I 6ORE YR ALPAL VIQ
Q6% ?

(A) 2RI
(B) Geéoin
(C) BItaR
(D) e

149. QT ALY 6969 €LRcQ THOeQ
6RIQRaIa ?

(A) Qigel_—
(B) zgeR
(©) eoag!
(D) giegl

150. e QIR 604 ol ASIee Blcaia
IRER ORI 60aF 7

(A) der 73
(B) i 74
(C) a1 326

(D) g3
o) 24

147. In the statistical analysis of quantitative
research in teaching-learning processes in
education, which of the following is not
required ?

(A)
(B)
©)
(D)

Intelligence test

Learning achievement test
Physical test

None of the above

148. Which one of the following is not a
greenhouse gas ?
(A) Carbon dioxide
(B)
©
(D)

Ozone
Argon

Methane

149. Which of the following does not change
during the melting of ice ?

(A) Density

(B)
(C) Temperature
(D) Phase

Volume

150. Which article of Indian Constitution
indicates about an Election Commission ?
(A) Article 73

(B)  Article 74
(C) Article 326
(D) Article 324
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